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Skl b PHYSICS AND CHEMISTRY
Physics

A liquid of coefficient of volume expansionv has density p at 0°C . The change
of density by rising its temperature to t°C is

(A) D{ll-;utj
-
(©)
(D) -

If the absolute temperature of a closed volume of gas is doubled, the mean free
path of the molecules will be

(A) halved

(B) doubled

(C) anchanged _

(D) decreased by a factor V2

Which of the following is a non-magnetic substance?
(A) Steel

(B) Nickel

(C) Brass

(D) Iron

When a minute quantity of phosphorus is added to a silicon crystal the latter
becomes

(A) good conductor

(B) p-type semiconductor
(C) good insulator

(D) n-type semiconductor

If a logic gate has both inputs at logic level 1 and output at logic level 0, then
itisa

(A) NOT gate

(B) NAND gate

(C) AND gate

(D) OR gate

When a wave travelling from one medium is refracted into other medium,
which of the following will not change?

(A) Wavelength

(B) Amplitude

(C) Frequency

(D) Velocity
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An example of a rechargeable cell is
(A) Lead-acid battery

(B) Daniel cell

(C) Leclanche cell

(D) Dry battery

The output from a full wave rectifier with an L-C filter is
(A) a d.c. voltage

(B) zero voltage

(C) a pulsating unidirectional voltage

(D) an a.c. voltage

—ﬁ:ﬂf

In the circuit shown above, the current through the 15 Q resistance is
(A)15A ©) 3A
B)SA (D) 1A

Pitch of a screw gauze instrument is 0.5 mm and its circular scale is divided
into 100 divisions. The least count of the instrument will be

(A) 0.005 mm

(B) 0.05mm

(C) 0.0005 mm

(D) 0.50 mm

A sealed spherical ball half-filled with a volatile liquid is used as the bob of a
pendulum executing simple harmonic motion with perlodT The bob is heated
slightly so that the liquid evaporates completely and the permd is now found
to be T,. Which one of the following is true?

(A)T,> T;
(B) T,=T,
(©) T,<T,
(D) Any relation between T, and T, cannot be ascertained from the data given

Four capaczlors of equal capacitance have a net capacitance C, when connected
in series and a net capacitance C, when connected in parallel The ratio of
C/C,is

A) 5
(B)
© 5
D) =

Space for rough work
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Twocoherent monochromatic lights make constructive interference when their
phase difference is
(A) 37
(B) 2n
Cn
(D)

)

Five metallic rods of same length and same material are connected as shown in
the figure. On end of each is kept at temperatures 100°C, 80°C, 70°C,
50°C and 0°C as shown respectively. The temperature at the junction of the five
rods is

iy 100°C
80°C
(B) 60°C 1 o
(C] 75°C 70°C
(D) 40°C 50°C

A beam of charged particles, having been accelerated by a voltage V, has a
wavelength A. On increasing the accelerating voltage to 4V, the wavelength
will become.

(A) 2A

(B) A2

(C) 4A

(D) remain the same

A coil having n number of turns and area A is placed in a magnetic field B
so that its axis makes an angle 60° with the direction of B. If B changes with
time, the magnitude of the emf induced in the coil will be

(A) nA%

1 AdB
B) 55 a
(€) 3 nA

1 A dB
Or: 5@

An ideal gas undergoing adiabatic expansion obeys the relation
(A) pV =RT

(B) pV? = const.

(©) (p+72) (V-b)=RT

(D) pV*!= const.

Space for rough work
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A man weighing 90 kg acquires 10° cal of heat from food. The height he can
climb by its expense if his metabolic efficiency is 28% is

(A) 1333 m
(B) 133-3m
(C) 1333 m
(D) 1-33} m

Which of the following devices is used for detecting thermal radiations?
(A) Thermopile

(B) Liquid thermometer

(C) Platinum resistance thermometer

(D) Constant volume thermometer

Energy corresponding to a photon of wavelength 5700 A is
(A) 21.7 eV

(B) 2.17 eV

(C) 834 eV

(D) 16.68 eV

Which of the following graphs represents variation of thermo emf (E) of a
thermocouple with temperature t of the junction, the cold Jjunction being kept
at 0°C?

(A) ET ©) Efﬁ

t — t—

(B) Eflﬁ (D) E1|f/_
t—
t-—.-

I gm. of water (= I cm’) when boiled at 1 atmospheric pressure, requires
169 J of energy to get converted into steam. Which! of the following gives
the volume of the converted steam if latent heat of vaporization of water
is 540 cal/g?
(A) 1560 cm’®
(B) 1671 cm?
(C) 1571 e’

(D) 1600 e’
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A wire loop of area A is placed in a uniform mia 'g"®lifield B so that the
direction of B is parallel to the plane of the coil. It" B Canges with time the
emf induced in the loop will be

(A) A

(B)-AL

(C) zero

D) ;AY

The source of unlimited thermal energy of stars is due to
(A) nuclear fission

(B) photo disintegration

(C) nuclear fusion

(D) y-ray disintegration

At a certain place, the horizontal component of earth’s magnetic field is V3
times the vertical component. Then the angle of dip at that place is

(A) 30°
(B) 45°
(C) 60°
(D) 75°

A train moving with a velocity v is passing a station. A passenger standing on
the station notices that the whistle emitted by the train changes its frequency by
50 Hz when it passes him. Given that the frequency of the whistle when the train
is at rest with respect to the passenger is 500 Hz and the velocity of sound in air
is 350 m/sec, the velocity of the train is

(A) 825 m/sec
(B) 17:5 m/sec
(C) 35 m/sec
(D) 30 m/sec

The dimension of the coefficient of viscosity is
(A) M'LT

(B) M°L'T

(C) MLT"

(D) ML’T?

|
If the displacement of a particle changes with time as x =  + 3, then the
velocity of the particle will be-proportional to '

(A) ¢!
(B) t

(€t
(D) 2

Space for rou—gl‘:' work.
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A rain drop of radius R falls from a heightOf H 'ﬂizre above the ground.
The work done by the gravitational force is p?PPOrtionfi] to which one of the
following?
(A) R? \
(B) R?
(C) R \
(D) R™2
-
Which of the following heat transfer processes is/aré necessary so that a candle
may continue to burn?
{A) Conduction
(B) Conduction and convection
(C) Radiation
(D) Convection

If the displacement (X) of the medium in the x-direction at a point x due to a
wave is given by
X (%, t) = A cos (kx — wt) + A cos (kx + wt), then the wave is a
(A) longitudinal progressive wave
(B) longitudinal stationary wave
(C) transverse progressive wave
(D) transverse stationary wave

Which one of the following equatmns is Einstein's equation related to
photoelectric effect?

(A) hv= Emvz-— W
(B) hu=3mvi+ W
(€) hv= W —mv?
(D) hv= my-hu

An object of mass m is projected at an angle 60° (with horizontal axis) with a
velocity v, Its kinetic energy at the peak of the trajectory is

my?
(&) 2

(B) 2

(C) 2 mv?
D) 5=

The temperature at which the r.m.s. veloéity of constituent gas particles at 0°C
decreases to half is

(A) 0°C
(B) -273°C
(C) 32°C
(D) —204°C

- Space for rough work
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A body is floating partially immersed in a liquid. If the body and the liquid are
taken to the moon the body will

(A) continue to float exactly as in the earth

(B) float with a larger part immersed in the liquid
(C) float with a smaller part immersed in the liquid
(D) sink

300 grams of water at 80°C are poured on a large block of ice at 0°C. The mass
of ice that melts is

(A) 80 gm
(B) 30 gm
(C) 800 gm
(D) 300 gm

If three bulbs of ratings 60 W, 75 W and 100 W are connected to 220 V mains
in series, then which bulb will burn most brightly?

(A) 75 W bulb

(B) 60 W bulb

(C) 100 W bulb

(D) All bulbs will burn with equal brightness

The current through a semiconductor is carried by
(A) electrons

(B) electrons and holes

(C) holes

(D) positive ions

An alternating voltage (E) varies with time (t) in a circuit which is given by
E = 200 sin (100 7t —35) volt. The R.M.S. value of the voltage is
200

(A) Ta14 Yolt

(B) 200 (1-414) volt

(C) 200 volt
(D) 200 V1414 volt

The temperature of a star can be determined using
(A) Stefan's law

(B) Wien's law

(C) Kirchhoff’s law

(D) Planck’s law

Space for rough work
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The. Average: rise m tequemurc produced in @ resistance carrying a.time
varying current depends rc'n its

(A) RMS value ! i

(B) peak value - ol I e 1

(C) average value ] lup Thl
(D) DC value

The work done in carrymg acharge q once round a circle of radius r' with a
charge q' at the centre is,

(A) Zero
® i (%)

© 3% ()
D) 7z | %S

A nuclear reaction is given by N4+ He'-» 30‘7 + X where x represents
(A) neutron |

(B) proton

(C) electron nbriabief |
(D) positron I

Which of the following s a vector quantity?
(A) Temperature

(B) Flux density |

(C) Magnetic field intensity

(D) Time

Total internal reflection takes place when light méves from a mediuth P (o 4
medium Q where P & Q have the f: ollowing characteristics: * * !

(A) light has a lower velocity in P than in Q

(B) light has a higher frequency in P than in Q
(C) light has a higher wévelength in P than in Q
(D) light has a lower frequency in P than in Q

Two wires of same material have lengths L and 1./2 and radlus r and /2
respectively. The ratio of their Young's modulus is {

(A)1:2
B)1:1
©2:1
(Dy4:

19
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A cyclist is moving along a curvature of radius ‘T at a canstant speed ‘v’. The
angle made by the cyclist with the vertical plane is

(A tarr ()
(B) tan”'(3)
(C) tan '(%
(D) tan”' (5

Slope of an isothermal curve is always
(A) equal to adiabatic curve

(B) greater than adiabatic curve

(C) less than adiabatic curve

(D) cannot be determined

The objective of a compound microscope whose magnifying power is 100,
produces a magnification 5. The magnification produced by the eye-piece is

(A) 40
(B) 30
(©) 20
(D) 10

A rod of length /. Young's modulus Y and linear thermal expansion coefficient
o.is heated to a temperature T above room temp. and its ends are fixed by two
clamps. On cooling to room temperature it will develop

(A) stress YoT
(B) no stress
(C) strain 20T

(D) no strain

11
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Chemistry
51. For the reaction 2H, (g) + 0, (2)=2H,0 (g). which of the following fact holds Space for rough work
good?
(A) Kp = K,
(B) Kp>K;
(C) Kp <K

(D) Kp and K cannot be correlated

52.  Which of the following equation is not correct?
(A) AG® = —nFE®
(B) AG°=-RTInK
a_ RT
C E= = log K
(D) AG=AG®°+RT In Q,

53. TUPAC name of the following compound is

AT
H.C en COOH

1 2

(A) I-amino-3-methyl pentanoic acid
(B) 1-amino-3, 3-dimethyl butanoic acid
(C) 2-amino-4-methyl pentanoic acid
(D) 2-amino-3, 3-dimethyl butanoic acid

54. [UPAC name of [Cr (NH,), CO,] Clis
(A) Penta ammine carbonato chromium (II) chloride
(B) Penta ammino carbonato chromium (TIT) chloride
(C) Penta ammine carbonato chromium (IIT) chloride
(D) Penta ammine carbonato chromium (1II) chloride

55, Which of the following compounds is not dissolved in dil. HNO,?
(A) PbS
(B) HgS
(C) ZnS
(D) CdS

56. Water transported through lead pipes becomes poisonous due to the formation
of

(A) Pb(OH),
(B) PbO
(C) PbO,
(D) Pb,0,

12
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57.  Which of the following aqueous solution has the highest boiling point?
(A) 0-01 M Na,SO,
(B) 0-015 M Sucrose
(C) 0-015 M Urea
(D) 0-01 M KNO,

58. The X and Y of the reaction scheme

KCN il.
CHCHO—— X 40 N0, v

25
are respectively

(A) C,H,CHOHCOC H, and C H.COCOCH;
(B) C,H,CHOHCOCH, and CH,COOH

(C) CH,CHOH)CN  and CH,COCN

(D) C,H,CH(OH)CN - and CH,CH(OH)COOH

59. Five most abundant elements in the living cell are
(A)C.H,O,N, Fe
(B) C,H.O,N,P
(C) C,H,N, Mg, Ca
(D) C, H, Fe, Mg, Ca

60. Number of molecules in 7°0 gm of nitrogen gas is
(A) 6:023 x 107
(B) 3012 x 10®
(C) 1506 x 10®
(D) 4518 x 107

61. Correct order of increasing ionic character is
(A) BeCl, < MgCl, < CaCl, < BaCl,
(B) BeCl, < MgCl, < BaCl, < CaCl,
(C) BeCl, <BaCl, < MgCl, < CaCl,
(D) BaCl, < CaCl, < MgCl, < BeCl,

62. Which of the following is not paramagnetic?
(A) CO
®) N;
(C) O,
(D) NO

63. Intense violet colouration was produced on addition of neutral ferric chloride
solution to the alcoholic solution of an organic solid. The organic solid may be

(A) Benzoic acid z
(B) Acetanilide

(C) Aniline hydrochloride
(D) Salicylic acid

13
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In the reaction
ether | [H*

Z + CH,MgBr—— Intermediate ﬁ_} CH,CH,OH
The compound Z is
(A) Methanol
(B) Formaldehyde
(C) Formic Acid
(D) Acctone

Which of the following contains cobalt? b
(A) Vitamin B,

(B) Vitamin A

(C) Vitamin C |

(D) Vitamin K |

The compound that is most reactive towards electrophilic nitration is
(A) Toluene

(B) Benzene !

(C) Benzoic acid

(D) Nitrobenzene

When phenol is treated with CHCI, and NaOH, the major product formed is
(A) o-hydroxy benzaldehyde

(B) p-hydroxy benzaldehyde

(C) o-hydroxy benzoic acid

(D) p-hydroxy benzoic acid e

Rates of diffusion of H,, D,, HD and He gases will be in the order:
(A) He > H,> HD > D,
(B) H."D>Dz'= He<Hi
© Dz>Hc=HD<[Q
(D)H!>HD>D2=He

Which of the following will have the highest coagulating power for As.S,

colloid? g
(A) PO> |
(B) SO>

(C) AP+

(D) Na*

14
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SF) iy b .
CH.CH,CH,CH, 2 oy cn—cH,
|
CH,
The catalyst used in the above conversion reaction is

(A) ZnCL,/HCI

(B) AICI, /HCI |
(C) PdCl, /HCI

(D) CuCVHCI

CHTN X —-)CHCI+N
X" and ‘Y’ in the above reactions are
{A) CuCl,, HC]
(B) CuCl, HCI
(C) ZnCl,, HCI
(D) AICL,, HCI

In the reaction

C.H,CHO + HCHO MM, x 4 v
The compounds X' and "Y' may be
(A) X (C,H,COONa), Y (CH,OH)
(B) X(C,HCH,OH), Y (CH,OH)
(C) X (C,HCHOH), Y (HCOONa)
(D) X (C;H,COONa), Y (HCOONa)

The polymeric material produced in the condensation reaction between
H,N(CH,) NH, and HOOC(CH,),COOH is named as

(A) Bakelite

(B) Nylon-66

(C) Polythene

(D) PVC

The hali-life of a given reaction is doubled as the initial concentration ofa’

reactant is doubled. The order of the reaction will be
(A) First

(B) Second

(C) Third

(D) Zero

For a zero order reaction with specific rate constant k , linear plot was obtained
for [A] vs. t. The slope of the line is equal to )

(A) k,

(BY -k,

(©) 0-693/k,
(D) - k,/2:303

15
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The type of hybridisation in diborane is
(A) Sp-hybridisation

(B) Sp*-hybridisation

(C) Sp*-hybridisation

(D) Sp'd*-hybridisation

Elemental chlorine consists of two isotopes, ¥Cl and *CL Atomic weight of
chlorine is 35-5. The ratio of ¥Cl ;: *Cl in ordinary chlorine is

(A)4:1

(B)i:4

e 1.:3

(D)3:1

Correct order of electron affinity of the halogen atoms are
(A)F<Cl<Br>1
(B F<Cl~Br>1
(CQ)F>CI>Br>1
(D)F<CI>Br>1

For a reversible reaction, if the concentration of the reactants are doubled, the
equilibrium constant will be

(A) halved
(B) doubled
(C) the same
(D) one-fourth

Which of the‘following is most acidic in character?
(A) Phenol

(B) p-nitrophenol

(C) p-methoxy phenol

(D) o-hydroxy benzoic acid

In a reaction Be” + Projectile — Be® + n', the projectile is
(A) a-particle

(B) B-particle

(C) positron

(D) y-ray

Conversion of RCOOH to RCH,0H can be achieved by
(A) LAH (LiAlH,)

(B) NaBH,

(C) Zn/HC)

(D) Sn/HCI

16
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The root-mean-square speed at STP of molecules H,,N,, O, and HBr are in the
order of '

(A)N,>0,>HBr>H,
(B) 0,>N,>H,>HBr
(C) HBr>0,>N,>H,
(D) H,> N,>0,>HBr

Which of the following compound forms two isomeric oxims on reacting with
NH,OH?

(A) RCHO

(B) RCOR

(C) HCHO

(D) PhCOPh

3-phenyl propene on reaction with HBr gives (as a major product)
(A) C,H.CH,CH(Br)CH,

(B) C,H.CH(Br)CH,CH,

(C) C,H,CH,CH.CH, Br

(D) CH.CH(Br)CH = CH,

BaSO, is water-insoluble although it is an ionic compound because of
(A) high lattice energy

(B) high solvation energy

(C) lattice energy is more than solvation energy

(D) solvation energy is more than latlice energy

The atmospheric gas which cannot produce greenhouse effect is
(A)N,

(B) HO

(C) CO,

(D) O,

In acidic medium, the equivalent weight of K,.Cr,0, (Mol. wt. = M) is
(A) M

(B) M2

(C) M3

(D) M/6

The oxidation state of Fe in [Fe (H,0), NO] SO, is
(A) +1
(B) +2
(C) +3
(D) +4

17
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Number of G-bond, m-bond and lone pair (Ip) of electrons in acetic acid
molecule are

(A) o (8), (1), Ip (8)
(B) o (8), (1), Ip (4
(©) o (7), @ (2),1p (4)
(D) o (7), m(1), Ip (4)

Equivalent conductance of an weak acid at 01 M concentration is 100 times
less than that at infinite dilution. The degree of dissociation of the acid is

(A) 100
(B) 10
(C) 0:001
(D) 0.0!

Role of ATP in bioenergetics is
(A) releasing energy

(B) absorbing energy

(C) transporting energy

(D) coﬁserving energy

Molar conductivities of H*, Na*, K* and Rb* ions in aqueous solution are in the
following order:

(A) H* >Na*= K*< Rb*
(B) H* > Na* > K* = Rb*
(C) Rb* > K* > Na* > H*
(D) H* > Rb* > K*> Na*

Chloride of a metal (M) of specific heat 0-16 contains 63-96% of chlorine.
The formula of the metal chloride is

(A) MCI
(B) MCl,
(C) MCl,
(D) MCL,

A solution of a metal salt gives a gelatinous white precipitate on treatment with
aqueous ammonia in presence of ammonium chloride. The precipitate on
treatment with strong NaOH solution, dissolves giving a colourless solution.
The metal ion in the salt is

(A) Ca*
(B) Al*
(C) Zn*
(D) Mg

18
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Cryolite is added to alumina in the electrolytic production of aluminium for
(A) cryolite serves as the electrolyte  »

(B) cryolite does not react with the electrode materials

(C) cryolite lowers the melting point of alumina by complex formation

(D) cryolite lowers the melting point of alumina and increase electrical
conductivity of the molten mixture

Which of the following characteristics will always lead to a spontaneous
chemical reaction?

(A) AH = +ve, AS=+ve

(B) AH=+ve, AS=-ve

(C) AH=-ve, AS=-ve

(D) AH=—ve, AS=+ve

If the reaction

CH,COOCH, + H,0 [T?ﬁ’ CH,COOH + CH,0H
’ - 1

is carried out in (M/10) HCl and (M/T0) H,SO,, the rates of the reaction (R) will
be related according to

(A) Rye; # Ry s,
(B) Ry > Ry so,
(©) Ryer =Ry s0,
(D) Ry <Ry 50,

The cell constant (k) for an electrical conductivity cell having two electrodes
of area A placed at a distance of / is expressed by

(A)k=1/A
(B) k=1/A
(C)k=All
(D) k = 1/(A])

Among O,, NH,, CO and CH, the gas with highest root mean square velocity
at a particular temperature is

(A) CH,
(B) CO
(€) 0,

(D) NH,
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[

(83759217E)
[BENGALI VERSION]
oAw<ffant @ FRw
“Arrefan

L ARG 2A1g s {48 @b st 0°C Tween vy p; t°C Tweery Toy
T @7 G0ES ARRES @

(] )
(A) B2
(B) - Pl + vt

vt

(C) —put__

1 +ut

(D) — _put

I+ut

aaﬁwmmmmmwﬁmwmm@ﬁawwmwm
(A) ©tds g

(B) fufie 579

(C) weifaafds e

(D) V2 Sipoiirs wwca

Ffrfee s T @b s sl
(A) 3=ire

(B) freey

(C) 35

(D) &g

wﬁﬁ%ammwmqamﬁﬁmmmﬂwza@mﬁﬁwm
(A) Hifa=

(B) p-w3ta wdoifaar®

(C) o wwzs

(D) n-4ac7a Gz

¥ @afl e (e gt TAomeR wfe v | T 3% WEHALA #1% 5 0 2,
€3 ool T

(A) NOT 5%

(B) NAND (5i5

(C) AND 55

(D) OR (55

ﬁmwwmmcmmmm uvmﬂ@wﬁw&:ﬁr@eﬁammﬁa.
1A AAfa<da 5a i s

(A) Sa5mG

(B) ez

(C) Tirg

(D) sifetas

Wmmmmm@mﬁﬁ
(A) 371 wifre =5

(B) wnfemas oz

(C) Eigw @y

(D) foreta =pi5ra
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10.

11.

12.

13.

(83759217E)

@3l sjcfomer e T T I8 L-C Frbr 38aia Sesitr (output) 16T T3
(A) @25 d.c. (SIFo
(B) *1 faea
(C) @& ™iRliel 4T (SIHE
(D) €= a.c. (Si=He
541
S g ’—‘W"\.'\-'U" 'ﬂ—“'i— "
il -‘_‘l\f\-’k_—* lnA |‘ —uAAs
Ak ——— L v
L 1902 T
= _}I
Toira 3ffs T8AE 15 Q @ied 3 frn @ fage 2@z a7 ol 28
(A)15 A (C) 3A
(B)SA D) 1A
9=fb F-ofr e 5 0-5 mm @R Tfa qETH CFEG 100 SIS Sie I3 WL |

& JrEa A 77 T3
(A) 0-005 mm
(B) 0:05 mm
(C) 0-0005 mm
(D) 0:50 mm
&b o aem Hiell BT e = Taill o wm weds o w0 9ol
(A e (bob) T Aegd 1 24| Citeeea o T, sihed (5| @B
(il o Telel (ReTl 28 TS ety oo IRAieaa ¥he | 93 (R
i T, @item oo | Freafafocfm sw @ e
(A T,>T,
(B) T,=T,
(C) T2<T'
(D) T, €38 T, 4% 5tz (@1 7o fefiaet ol 7R O (A 3183 7
5T %% ARRE W< (R HAIE IE F9¢1 A% 49 W C, 9R Jofe
HATGA FHRIA & T afd & C,; C,/C, it T3
(A) 1
B) 75
©) §
D) 35
% ¥R (coherent) @FIAN AMATEA Aswere JfObE (constructive
interference) TS3! 304 T4 1A 741 A1y
(A) %n
(B) 2m
©n

w
(D) 3

21

”

Space for rough work

collegedunia:


Stamp


14,

15;

16.

17.

18.

19.

’ (83759217E)

FHOGA 9 9% <ed (9] Al wea we wfte oI B e = =
% eulE 9oib 3 208 (2f9rs o) IS 100°C, 80°C, 70°C. 50°C @=e
0°C Si>aa 472 04 W | <2 woshia FREs 20y SieiiEl 3@

(A) 70°C JOO°C

(B) 60°C l 80°C

{C) 75°C 0°C

v e
\sgec

<% IR AT 34 V (SIr5a 9191 TS (accelerated) T 7T S50 =0 A |
IS (SIF0E 4V 331 e wamin) 23
(A) 24
(B) A2
(C) 4A
(D) weifzafés
|

28 A &R n A% FYRER o= oiee sohice =B G5 ovs Be
TSI R T T AWE FoIT EF B-I GiGwiw A 60° @M T WS
B T A +if4fEe = gediive uifeR oiowmE am 1w 3@

dB I
(A)MT

—

B)

1 =
e
2%

8

e
sl& j&

D)

=l Wil 1 e afFa 2R 2 @ oEh S I S =
(A) pV=RT

(B) pV* = const.

(C) (p+4:) (V-b)=RT

(D) pV™'= const.

90 2l Seea 9= AT Reb! Wes i 10° Wi s
mm%ﬁmmmmmﬁﬁ(ﬁmﬁwmgmaﬁ
(A) 1333 Fi

(B) 133-3

() 1333 f

D) 1333 /K

Wﬁ%ﬁfawﬁaﬁﬁmﬁamﬁwaaa
(A) 2ichivtizs

(B) w3 Qe |

(C) arfos @in iR

(D) &3 wnres Wbl
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| 23,

(83759217E)
5700 Ammmmﬁ i g,
(A) 21.7 eV « FE
(B) 2.17 eV - ;
(C) 8.34eV
(D) 16.68 eV

. ffRe efbaeks w5 Rl <oh Srgew o9 Rse (B)<2 e Se

SHEAISHEETR SINIE! 193 Aty ARaEa oe w0, R del srrnse S
0°C otz ?

L —— L
y ! & 3 gt e
B) E ] ' Dy =
t — T

|

<% gm. & (= 1 cm’) | e vite §59 90« Wi =TS 169 11 =ames
= |ﬁﬁamﬁmﬁmwﬁcﬁmmmﬂzmq
540 callgm ¥H?

(A} 1560 cm®

(B) 1671 ¢mi®

(C) 1371 ent’ :
(D) 1600 cm®

cFzve A B aalh e KR wies ol ool S Giverss Baa Wy

SITEIE 9141 T (T B9 S $odle o AN = | B i AfEe
wF PeATe i Siowies 39 A

(A) A

® <Al
(C) zero |
(D) 5 A

(A) WEET e

(B) photo disintegratidn

(C) Felpn Bowm

(D) y-aF fEa5a § —— S T O L

GoTh T RS SHIET Sghe S Sy Beie ST 3w 1 A%
formre =% ¢ =

(A) 30°

(B) 45°

(C) 60°

(D) 75°
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26.

27.

29.

3L

32‘

(83759217E)

v TS sifeRier @it G 9B ot oIt it T1em | GBIt HISIE QI F1al Gral
@ G I8 @=its o #Art i Tred W 50 Hz #Rafe 211 9@ wieies
fEfoma s Gra Mia @=E 500 Hz <33 eio7 = @9 350 m/sec T
@ra @

(A) 8:25 m/sec

(B) 17-5 m/sec

(C) 35 m/sec

(D) 30 m/sec

AESIED NG Adwa9 =5
(A) M'L'T

(B) M'L'T"

(C) MLT?

(D) ML*T-

it I TR A (x) SRS A VX =t + 3 WP IR = g i
35 feena oifaafds zae

(A) !

Bt

(©) Nt

(D) 2

R P 8 ol =i ¢ff ciee H o et o Ava | w2 39 w41
Wﬁtjﬁmmwwvnﬁmr

(A) R

(B) R?

(C)R

(D) R*2

jlt;mmmﬁﬁﬁ&smﬁ%mm o @3l cmaife g aem oy
? -

(A) =

(B) e @ «Afdvem

(C) fafFaat

(D) =ifawem

i /T 7Y w93 T 2fEe 2 Wme 2

Tertsa wdiEad (I 5 ¢ PR )
X (x, t) = A cos (kx-wt) + A cos (kx + wt)

(A) 0] 551 S35

(B) S{twely g1 wam

(C) foif vei wam

(D) o g oo

e fiete o s fl ST wiee-sfee RfFar e divad

(A) by =2 mv?- W
(B) hv =3 mv?+ W
(C) v =W —Zmy?
D)= mv-ho
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34,

35.

36.

37.

38.

39.

(83759217E)

YRS ALA60° (I m’ STRT G0 T v (@0 P w21 29 | e s
wfq sifexE =

mv*
(A) =

B) 5
(C) 2 mv?
(D) =

(@ SiAEEE 0°C-43 551 9R (@017 5 T (r.m.s. velocity)-93 S8 28 ©f
=

(A) 0°C

(B) -273°C

(C) 32°C

(D) -204°C

(@I SATA G 78 S sy s st | Sits oee w2 e M o
“ita 4

(A) #{fe@a wrel B «IeE ehE

(B) & wizet ware Ffese 2@ oW

(C) o9 we warE [Fufess g ora

(D) $t< A3

80°C Tagerm 300 &1 T 0°C Tweor o3l 98 39T 40ed T947 @l 2 ) offFe
FarEq ffqa

(A) 80 oM™

(B) 30 4

(C) 800 =it

(D) 300 &

T 60 W, 75 W3z 100 W = feafh 3 i wraiea 220 V Ger-a9 e 3@
U O (I I AL Segeron g e

(A) 75 W am=

(B) 60 W 1=

(C) 100 W af4

(D) 7R afe 952 Tegerer Tod

wdoifaazia ne o of¥esar 3 3@

(A) TG \
(B) ARG @3 5%

(C) TS

(D) ¥wiIgS SIE

@ FEAIE (a.c.) RS F=a (E) 792 (1) e P «faafes 2 ¢
E =200 sin (100 mt - 5"5) volt

R.M.S. (=g #iteme aW @4

200
(A) e volt

(B) 200 (1:414) volt
(C) 200 volt
(D) 200 V1-414 volt
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40.

41.

42.

43.

45,

(83759217E)

IR GG el A o e v @
(A) Stefan-937 7@

(B) Wien-a7 5@

(C) Kirchhoff-93 73

(D) Planck-9% %@

(R N o e s7cara el sifeardepie com ofe 2 o Settara % I
#mzs Ffafde @mba Som fisa o

(A) E12.9%.9%, 3F

(B) e (peak) It

(C) “1g 3w

(D) fe.f. wm

=l wm qF ¢ e RRER gl 90e, T @ q' W4E iR, sEwE
A A0 =S @« w0 e w1 o

(A) Zero

e Fef Rt @i xe s 722
N4 1He‘-—>8017+x

(A) FEE

(B) caia

(C) Z==Ga

(D) =fEga

R s @ e 2k
(A) Taegl

(B) Tl g

(C) o= cwraa Srgw

(D) 733

S o Srered sifewem 9 73 @i P 14531 (405 Q 7N T | Of 20w
Q waH Pee

(A) == siferast @
(B) Sitam a=oirg et
(C) =R Sammne @ff
(D) SitsT" g oy
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46, ST Do A wicwm 2wEa i Lo e reacfisua e L2 ¢ Space for rough work
A /2 2 SR TR BT SATS
{APeg Vs e s 0w oo ST S (ploH .
®)1:1 A=nd
©2:1 ' .
“ ‘ (Dy4:1 | ¥ =

|

b | 47, T HiaEa S ‘v TS T ol 3 i zme) Tee S
it SRR @ @ 79 e A O T—

() tan(75) |
(B) tan'(:5) | 12 . A
(©) (%)

(D) tan”'(55) | o

48, = e @by wfe AR
(A) FFo @O AW ol
(B) Faeie FHibGes (61 T8 | |
(C) FFee (aifboea (50 Ly | ! i v
(D) fiefir =01 AR Al o L =)

49, €= AT 9@ T Sfearm Rads Tl 5 aR i faeda =wer 100:
Stz (eye-piece) R F7e! T3

(A) 40

! (B) 30
(©) 20 - | -

(D) 10 : S e -

50, 100, Y T w6 € Or e oTE o R b veie e, gl

WWT@ﬁ%mmmw@mwmmmﬁnwmﬁm
‘ e Fafin S Refrs S BE

(A) AeA YT

' (B) "7 AeH
(C) e 20T

D) = Regfe
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52.

53.

55.

56.

(83759217E)
eI

2H, (g) + 0, (g) = 2H,0 (g) <& fferwra cwvm il o <Gl 2
(A) Kp = K¢

(B) KP > K¢

(©) Kp<K¢

(D) Kp €38 K¢-3 T (I 75 A 71

fersfafare cm Fieadfs #fie a0
(A) AG® = - nFE®

(B) AG°=-RTInK

(C) E°= % log K

(D) AG = AG® +RT In Q,

fewfafae @rsfoa [UPAC s
CH, NH

| |

- CH [ /CH\
H.C CH COOH

2

2

(A) 1-wifiza1-3-feiEa Eoimife e
(B) 1-snifieai-3, 3-ulRfaeizs REomie wibe
(C) 2-wnifee-4-feza bt e
(D) 2-wifae-3, 3-uRfaefEa [EtmEe w@ite

[Cr (NH,), CO,] CI (Tisifbs IUPAC /1% %=
(A) %1 =ifim S G (1) @iiRe
(B) (o171 ST G051 Gt (111) @reizs
(C) 751 Sififam ! cewifiamst (11D) @Taize
(D) ¢o%1 Sifem et e (1) @R

e (o e eTiRe o1 Al wifie efyge @ a1
(A) PbS
(B) HgS
(C) ZnS
(D) CdS

Hita sif2eet w1 #fiemiens o e T @ i Sesiwa
(A) Pb(OH),

(B) PbO

(C) PbO,

(D) Pb.O,
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5%

59.

61.

62.

63.

(83759217E)

Tsifeifers wal gl wa @Riba gHae wdn T3 e
(A) 0:01 M Na SO,

(B) 0:015 M e

(C) 0:015 M Z&fa1

(D) 0:01 M KNO,

CHCHO KON . dil BNO,
C,H.OH

< fafeares X 99 Y 25 s

(A) C,H,CHOHCOC H, 93t C,H,COCOC H,

(B) C,H,CHOHCOCH, 4«32 C,H,COOH

(C) CHCHOH)CN  @® CH,COCN

(D) CH,CHOH)CN 9% CH,CH(OH)COOH

G19 (@I s wne sl ¢ =
(A) C.H, O, N, Fe

(B) C,H,O,N,P

(C) C, H. N, Mg, Ca

(D) C, H, Fe, Mg, Ca

7 SIS SRRSO SR HLA
(A) 6:023 x 10%
(B) 3012 x 10
(C) 1:506 x 10
(D) 4518 x 10

il e ez s o =

(A) BeCl, < MgCl, < CaCl, < BaCl,
(B) BeCl, < MgCl, <BaCl, < CaCl,
(C) BeCl, < BaCl, < MgCl, < CaCl,
(D) BaCl, < CaCl, < MgCl, < BeCl,

o sy @ spansnsmEte 792
(A) CO
(B) Ny
(©) 0,
(D) NO

935 eq aida Ada SEEeRAIN Y0 e (PR GIRIRG 799 (s T oG
Azl 3 Besly 27 | (a1 I el O A

(A) T s

(B) SpifGifmizs

(C) wnffem REiEERe
(D) FEmiEES SifFe
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67.

68.

69.

(83759217E)

Z+ CHJMgBr—jN—a-) pLIECH mﬂ% CH,CH,OH fafémar
Z csif = 2

(A) Fioer=

(B) wayafeEiEs

(C) wafi= wifSre

(D) =iFG=

fraffReelm sy cmftee s séam
(A) feoiE= B,

(B) febim A

(©) f&oifm C

(D) febifim K

eI ARG wEiiE i @i 2=
(A) Toluene

(B) Benzene

(C) Benzoic acid

(D) Nitrobenzene

GRIEE A T @R 932 @%e onele [ifEn e @, w9 SeE 5
“14ib 2=

(A) o-220gifs EFETEfEzRe
(B) p2REi @asriibeze
(C) o-=RugifE @arsifs wnfe
(D) p2EEifE @eEifEs it

H,, D,, HD &3¢ He "0i33 17 2 & &

(A) He>H,>HD>D,

(B) HD>D,=He < ﬁz

(C) D,>He=HD<H,

(D) H,>HD> D, = He

e Coe WEETDA As,S, PGS S (coagulate) P19 T9I! 374 (it (¢
(A) PO> W R
(B) SO

(C) AI*

(D) Na*
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70. CH,CH,CH,CH, i"l“f’;, CH,— CH— CH, Space for rough work
I
CH,

| Sorare wirge e sqabem Jeme @

| (A) ZnCl, /HC

; (B) AICI, /HC
|4 (C) PdC, /HC

(D) CuCIHCI

71. CHN, CI XY cHCI+N,
@ figam X" 9w Y' &=
(A) CuCl,, HCI
(B) CuCl, HCI
| (C) ZnCl,, HC
) | (D) AICl,, HCI

NaOH
| 72. CHCHO+HCHO—— X +Y
ffem e X 93 Y =
‘ (A) X (C,H,COONa), Y (CH,OH)
(B) X (C,H.CH,0H), Y (CH,0H)
(©) X (C,H,CH,OH), Y (HCOONa)
(D) X (CH.COONa), Y (HCOONa)

(polymerisation) (7 ¥%51% (polymer) ©<%8 = ©1 25
(A) RE=TR6

(B) @lZ=-66

. (C) =t

T (D) Ffe B (PVC)

J 73. HN (CH,), NH, €& HOOC (CH,), COOH-~3 vy 7t e

74, o R A A Fod s v Rivnis wdy fed 7w Rigls
&
(A) =93
(B) o
(©) vom
(D) 571

75. i fafel 59 (specific rate constant) k, TRRMS @l -2 R
509 [A] vs. t G G FIeAA | & FIeCEd A (slope) =
(A) k,
(B) -k,
(C) 0693k,
(D) - k,/2:303
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80.

76.

71,

78.

79.

81.

82.

el

(83759217E)
CRERIER (F107 Fra 7Ea9 (hybridisation) T5
(A) Sp-s&2d
(B) Sp*- 7534
(C) Sp'- 72
(D) Sp’d*===

fEm cnera 4 Feife 0l @3k ¥Cl, @ifama ArmefRe ewy 35-5; wamd
GIfeT TCl 938 3Cl-a3 SHsirs =

(A)4:1

(B) 1:4

(CYS1RES

D) 3:1

ieAie= AaaeefEz Tewss srfe we o=
(A)F<Cl<Br>I
(B) F<Cl~Br>1I
(C)F>CI>Br>1
(D)F<Cl>Br>1

W g3l Tedl &fdsam o [T vl faed wmmwmw
(A) otge T

(B) faed == i
(C) @3 413

(D) g5t 27

frafeife (el T @R @ e @R e sk
(A) @==

(B) p-Aig@icE=e

(C) p-Faf® ==

(D) 0Tl e Sk

Be’ + 2P (Projectile) — Be® + n'; 2faEfrs 251 (Projectile) 7=
(A) a3t
(B) B-=i
(C) #ifEg
(D) y-3f

RCOOH ¢4t RCH,OH ##iieta amemy Rt =

(A) LAH (LiAlH,)
(B) NaBH,
(C) Zn/HCI
(D) Sn/HCI
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86.

87.

88.

89.

(83759217E)

SR 914 @ BILA(STP-) H,, N, O, 93¢ HBr W f3a 5-0w-39 %1% (root mean
square speed) fER©Sf @ % SR = o =

(A)N,>0,>HBr>H,

(B) 03>N2>H2>I{Br

(C) HBr>0,>N,>H,

(D)H,>N,>0,>HBr

frsfafie ot e NH,OH -7 e fRfte e o it ez smizs o2
(A) RCHO

(B) RCOR

(C) HCHO

(D) PhCOPh

3-fFaize (2 ¢ HBr-a7 ffimm 327 RiftFuiats smd ==
(A) C,H,CH,CH(Br)CH,

(B) C,H,CH(Br)CH,CH,

(C) C,H,CH,CH,CH, Br

(D) C H.CH(Br)CH =CH,

BaSO, W= (1o 263 G T SR T
(A) @7 @7 *f@ (lattice energy) 4@ 1
(B) @3 @A (solvation energy) 43 (341
(C) TR =fes gamm s e

(D) ars #ifea e TR “fe @

AT=IT 2@ WIS #iiea 7 ITAETT G5 S 2o
(A) N,

(B) H,0

(C) CO,

(D) O,

i M K, Cr, 0, (W9 659 = M)-97 gawera =
(A) M

(B) MA2

(C) M73

(D) M/6

[Fe (H,0), NO] SO -4 Fe-43 @194 @3 (oxidation state) Z&
(A) +1
(B) +2
(C) +3
(D) +4
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9.

92.

93.

94.

9s:

96.

(83759217E)

s SNEG Wi o3, 1-awN R e SEhn T (Ip)-97 A
(A) o (8), m(1),Ip(8) ol

(B) & (8), m (1), Ip(4)

C)o (M. n@).lp#H

(D) o (7), (1), 1p(4)

01 M siprge uslh 3§71 wiifnes gens sifixfeem sm wim wgerl (infinite
dilution) T=7E »ifFaifgez waa 100 a4 93 wivelhs Qo saizm
(A) 100

(B) 10

(C) 0:001

(D) 0.01

Tora =i e ATP-7 gfie 21

(A) releasing enérgy (7% I& F41)

(B) absorbing energy (<& (<<t ==41)
(C) transporting energy (*f& Tergs =)
(D) conserving energy (& Rezsa 1)

@ 4l H*, Na*, K* @3t Rb* SIRGE SieR #iaiies @ fmae 3
(A) H* > Na* = K* <Rb*
(B) H*> Na*> K =Rb*
(C) Rb* > K* > Na*>H*
(D) H*>Rb™ > K* > Na*

e 9ol 0-16; @5 G 4y (M)-9% GRS 63-96% @A W 91gs
SaEEhe Awas 25

(A) MCl
(B) MCI,
(C) MCl,
(D) MCI,

b 4iga T Fa SiEEE @REee SofEfere wam e w9 el
ware wm s T STl #Ts | MG NaOH B39 (319 3908 & W2l garge

2 TF w99 Teon 2| & A 4R Wi 2=

(A) Ca*
(B) Al.’w
(C) Zn*
(D) Mg*

Sfbe simfere SHEfRAaR S SpEfmig it FIEeERs e 9 7 9o @
(A) FIERs ©fee-fmm et 15 a0

(B) ARG S 4wnde Any [ s =

(C) wfbe *iim R TIARTES SRE=Ia Sewils 5% 0

(D) TIAREE SRR Seais 55 3R 932 sfere fireg «fiafze 3f% @
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98.

100.

(83759217E)

A5z o AR Al RfFas Forpdel Aot e
(A) AH=+ve, AS=+ve
(B) AH=4ve, AS=-ve
(C) AH=-ve, AS=-ve
(D) AH=-ve, AS=+ve

H'O’

e
[=nifre)

faferai® (M/10) HCl @32 (M/10) H,SO, Tty 31 771 RiT s 29 (R)-43 70
ord T
(A) Ryc1 # Ry 50,
(B) R yc1 > Ry s0,
(©) R yei =Ry 50,
(D) R ey <Ry 50,

R e AR i A oware RS b o 1 oy S AR & @IEE
@R-53F (k)G 2B 1 T

(A)k=1/A

(B) k=1/A

©) k=All

(D) k= 1/AD

CH,COOCH, + H,0 CH,COOH + CH,0H

@1 78 B2eem O,, NH,, COGa2 CH,~g3 310t T 353014 3 (37 (root mean
square velocity)-5=® =16 2=

(A) CH,
(B) CO
(©) 0,

(D) NH,
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